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Candida1e.s arc allowed 15 nw,utes for reading the qumion paper. 1hcy mll5t NO r slJ:ln writing during th1~ i,mc 

Answl"r ■II the. questions in Seel Ion A, and any l1our from Section 8 . 

SECTION A 

Quulloa I : 
a) Name the operator used for the allocntion of memory for u.rroys When 1s the 

alloco1ion or memory done when the sald operator is used? /I.I Ckl 1 
(un lin-.i Pl 

b) What att the 11cc:umuln1or vllrioblcs? Explain "ith the heir o( wi cltlllTlple (21 

c) l:lowis+tndiffcrcn1from o+'-? r.c f ('l i f- c.:. ( t-S- 121 
d) Write an ex-pn:ssion in java for the folll.lwi ng nrithmetic cxpre1>~ion [21 

a2+2ab-'-b3 (Lj(-<L-1· 1. 1- -e ... ,c.-6 -1 l-,t- b 
e) How mnny values can n function return? How will you ind1co1c 1h01 s funcllon 

doesno1mum:111ytbing? 1
1 

vo"l cl Pl 

Quution 2: 
a) What 1s the difference between string dnt3 ond cht1111~lcr doia'l nu .. U_ _ j. 

b) Write the statement in Java 10 find the SQUlll'C root of a numl:,e,r .,_~,J.; • .JJf 11 

c) How do you write commeolS in a j11va program? // Ir I / U 
d) Whal is double in J ll\'tl1 ,{t'-LA- ""L.i \l< ~ bl la.)!(.., 
e) \Vl1at is mennt by precedence of o~otors'/ lJ \, 1 ~ , wi4 

~ (.rt""l.t.L v:J i:. 6 r · ,l.c~ C"" ~·r · · 
Qucslioa 3: 

[2) l,, •• A.1 ./ C ' 

[2] 
(2) 
(2) 
(21 

a) Name lhc pickagc lhn1 conlllins the class Buffcrcd.RC3dcr. lo [2) 

b) Which ~ckagc gets imported automatically? Ll4L-\ (2) 

c) Expl:un the worlcing,of II for loop. J [2] 

d) Whal is !YM? l w \j_l r :;:zu:1., \ (21 
c) Wbnt is II compound s111tcmcn1? 1. (21 

I) When do we come across I.he error "undefined symbol"? 't\~ clLtL.. \ &.t.L ~ (2) 
.,_~w .... ~~ . 

Queslion 4: 
Write lhc dr, rua for the following code segments 10 dctennme the output: 

al String s-"positivc people do noljlul others down" 
int g:s.indcxOl{'d'); t <, 1 I ~,.­
System.out.priotlo(g); 

bl 

c) 

d) 

int i=6.j=7, 1,,~8; 
SyS1.em.ou1.prin1ln(i>j && k>i); t,l~ 
int M. y=SO. ~ rC\ 
while(x<=-y) j "i(J r, ~ ~ 
' "' • t.:. I , . tt. • 
)=y/x: J \:::.,, 
System.out.pnntlo(y): 
} 
int a9i.b,.,1,c=5; 
Systcm.out.printlo(afb•cJ: 

[2) 

121 

[2] 

[2] 

Write the programs in J ,wa for 11nv four of the following 11un tions alonR with the \'llr i11ble dcs1·riptiou: 

(4x15 = 60] 

Quesl«>nS: 
Declare an array of sw: IO for int.cgers and store the ,'illucs given by the user in 11 Find the 11111.~imum and the 

minimum values entered by the user 

Question 6: 
Accept a string vnluc from the user 11nd convert the lirst characl~r of o:ach \\Ord 1nhi capita.I lcner 

QueJtioa 7: 
Write a function to dctc:nnioe whether II number 1s Annstron§ or not If the number ls equal h) 1he sum or the 

cubes of its digits it is Armstrong. For example I 53=13+5l+ 3 . 
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Ques!ion 8: 
Accc:pt .i.n amount an rup.:c:s from the us.:r nnd determine how mnny 0111c~ of diffc:rcnl dcnominntion, wr,uhl bt 
rc:4u1 r,;d 10 rcprt sen11lli~ wno1m1 lxginriing from the lnrgc:st dcnnmiruuion. 

Quution 9: 
,\ ccepl n siring from lhe user nnd cow,1 the number of blank..\, vo,wcls. and spec_1nl churru:1cr~ SCJlilro1cl~ 

Qur.slioa JO: 
l'tini the follo11in1l pancrn foi II rows when: n 15 g,vcn by the lLScr: 
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